MATH 201.1 (Term 111)

Quiz 2 (Sects. 12.1-4)

Name:

Duration: 20mn

ID number:

1.)(4pts)Find the center and radius of the sphere of equation 2?+y?+2?+1z—2 = 0.
What are the intersection points of this sphere with the zy—plane.

2.)(3pts)Find the area of triangle of vertices A(0,1,1), B(2

,—1,1) and C(~1,1,0).

What is the angle between the vectors AB and AC.

3.)(3pts)Find the volume of the box defined by the vectors a =< 0,-1,1 >,
b=<2,1,-1>and c=<1,-1,0 >.
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MATH 201.5 (Term 111)
Quiz 2 (Sects. 12.1-4) Duration: 20mn

Name: ID number:

1.)(4pts)Find the center and radius of the sphere of equation 2 +y?+22—z+iy = 0.
What are the intersection points of this sphere with the rz—plane.
2.)(3pts)Find the vector projection of u =< 1,—1,1 > onto v =< 0,3,1 > . What
is the angle between the vectors u and v.

3.)(3pts)Find the volume of the box defined by the vectors a =< 1,0, 1 >,
b=<0,1,-2> and c =< 1,1,1 >.
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